
Time: 10 Minutes Paper Math 7 (T-3) Total Marks: 10

1st Month, 4th Week, 1st  Day Review Ex: 1(a)Q # (1,2,3,4,5,6,7,8)

Q.No.1. Choose the correct option. (0.5 x 6 = 3) 

i) The number that can be expressed in the form of , q o is   called:

 q o  
(a) mixed number  (b) rational number 
(c) whole number  (d) natural number          
ii)

(a) (b) (c) (d)

iii) The set is written in the bracket:              
(a) (   ) (b) {   } (c) [   ] (d) [   }

iv) If sets A and B are disjoint sets then:  A  B 
(a) (b) A \ B = B (c) (d)

v) The difference between the actual value and estimated value is called.



(a) error  (b) rounding     (c)
approximation

 (d)
reasonableness 



vi) 

(a) 34 (b) 38 (c) 40 (d) 44

Q.No.2. Solve the following. (1 x 2 = 2) 
Represent the following on the number line. 
i) - 40, - 15, - 30, - 45, - 65, - 70 ii)

Q.No.3. Verify: (1 x 2 = 2) 

Q.No.4. Solve the following. (1 x 3 = 3) 
The product of two numbers is . If the first number is , then find the

other number?   
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